
1989 Porsche 964 Carerra 4 Clutch Parts

 
PART # DESCRIPTION # SACHS # COMMENT

999 113 426 41 rear main seal 1  
964 102 239 00 mid weight flywheel 1  Flywheel & Pilot Bearing = 4900g
930 102 206 00 cheese -hd screw (flywheel bolt) 9  
931 102 111 00 ball bearing 35m 1  
950 116 086 06 clutch release fork 1  
950 116 715 01 clutch fork bush 2  
950-116-023-03 pressure plate 1 3082 175 202 P.P.+ T.O.  = 10050g
950 116 012 52 clutch disc (rubber centered) 1 1862 137 103 2200g
950-116-080-08 release bearing 1 3151 179 202 490g
950 116 143 01 starter ring 1  950g
900 067 045 02 cheese head screws M8 x 80 9   
950 116 813 06 clutch guide tube 1  49.05 mm
900 270 055 02 screw M6 x 14 2  
950 116 710 04 operating shaft 1  
999 113 418 40 operating shaft gasket 2  
999 201 339 00 operating shaft bush 1  
999 201 365 00 operating shaft bush 1  
950 116 725 00 operating shaft cover 1  
000 043 024 00 Olista Longtime 3EP 1  

~Rotating Mass (Flywheel, Starter Ring, Pressure Plate, T.O.)  15900g

 



1990+ Porsche 964 Carerra 2/4 Clutch Parts

 
PART # DESCRIPTION # SACHS # COMMENT

999 113 426 41 rear main seal 1  Same as 89
964 114 012 02 Two - Mass Flywheel 1  Flywheel & starter ring = 13607g 
999 119 017 01 cheese-hd screw (flywheel bolt) M10x1.25x62 9  
999 052 169 00 ball bearing 15x50x11 1  
950 114 283 00 spring washer 1
950 114 281 00 washer 1
950 116 086 06 clutch release fork 1  Same as 89
950 116 715 01 clutch fork bush 2  Same as 89
964-116-028-90 pressure plate 1 3032.125.199/3082.213.133 Same as RS, SEE NOTE 1, P.P.& T.O.= 4750g
964 116 014 62 clutch disc 1   
950-116-080-08 release bearing 1  Same as 89 (490g)
964 114 143 02 starter ring 1  
999 510 015 02 PP Bolts (cheese-hd. Screw M8*40) 9   
950 116 813 06 clutch guide tube 1  Same as 89 (49.05 mm)
900 270 055 02 screw M6 x 14 2  Same as 89
950 116 710 04 operating shaft 1  Same as 89
999 113 418 40 operating shaft gasket 2  Same as 89
999 201 339 00 operating shaft bush 1  Same as 89
999 201 365 00 operating shaft bush 1  Same as 89
950 116 725 00 operating shaft cover 1  Same as 89
000 043 024 00 Olista Longtime 3EP 1  Same as 89

~Rotating Mass (Flywheel, Starter Ring, Pressure Plate, T.O.)  18357g
------------------------------------------------------------
NOTE 1: Pressure plates available are:
964-116-027-90 968 (green)
964-116-028-03 993 (no mark)
964-116-028-53 993 TT & 964 3.6TT (red) & GT3 mk2
964-116-028-91 964 3.3TT
964-116-028-90 964 (blue)
996-116-027-51 996 GT3 mk1 & 996TT
------------------------------------------------------------



Porsche 964 RS Carerra Clutch Parts

 
PART # DESCRIPTION # SACHS # COMMENT

999 113 426 41 rear main seal 1 Same as 89
964-102-239-31 LWF Flywheel 1 Flywheel & Pilot Bearing = 5000g
928-102-151-01 cheese -hd screw (flywheel bolt) 9
931-102-111-00 Pilot Bearing 1 Same as 89
950 116 086 06 clutch release fork 1 Same as 89
950 116 715 01 clutch fork bush 2 Same as 89
964-116-028-90 pressure plate 1 3032.125.199/3082.213.133 SEE NOTE 1, P.P.+ T.O.  = 4750g
996-116-015-32   clutch disc (spring centered) 1 1862.323.03?? (BLUE) 2000 g
944-116-080-01 release bearing 1 3151.227.002
964-114-143-31 starter ring 1 750g
N-014-715-3 cheese-hd. Screw M8*45 9  
950-116-813-30 clutch guide tube 1 63.30 mm
900 270 055 02 screw M6 x 14 2 Same as 89
950 116 710 04 operating shaft 1 Same as 89
999 113 418 40 operating shaft gasket 2 Same as 89
999 201 339 00 operating shaft bush 1 Same as 89
999 201 365 00 operating shaft bush 1 Same as 89
950 116 725 00 operating shaft cover 1 Same as 89
000 043 024 00 Olista Longtime 3EP 1 Same as 89

~Rotating Mass (Flywheel, Starter Ring, Pressure Plate, T.O.)  10500g
------------------------------------------------------------
NOTE 1: Pressure plates available are:
964-116-027-90 968 (green)
964-116-028-03 993 (no mark)
964-116-028-53 993 TT & 964 3.6TT (red) & GT3 mk2
964-116-028-91 964 3.3TT
964-116-028-90 964 (blue)
996-116-027-51 996 GT3 mk1 & 996TT
------------------------------------------------------------


